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SECTION ~ B (Marks 36)

Q.2 Soive the following Questions. (9x4=236) .L;f.J'.g,mer,_; 24U
i) Reduts e aqualion x=5 _ ’E.M S nupditibe i _Use s_yntheiac division to find the values of ! and m
2% i (x+l}and (x-2)Jare the factors of
and solve. 72
e fx 5_x—4 |4 | OR B ARl 2+2
- "'!:4" rahbaon T3 (%= 2) o (0 +1) S o Em ol L 45
WPl F B 2§
(i) | i a,pare the rools of x*—5x+4=0, then find an Solve the radical equation 243x+4 +3x—4=0
equation whose roots are 3 +2and 35+1. «L{/J:(2-’31+4-'~3x-—4=ﬂ il s
u‘de.‘.g.‘.‘-vafL{!;UKuJuz- X =5x+4=0lis a.ﬁ)’l
* x4 OR 1x%d
Un3F+2 .30 42 Jul
T i
U 1 it 222 then shaw that 224301 22 +3p7 if P={1,3,5T}and 0={2,4,68}, then findPxQ
r q Ziy-3pg 25 -3p°
2y 43pg_ 20437 TR e and areiation Z={(x,y)|xeP,peQrx+y>9} »
20 -3pq 25 -3p v g wodE o PxQ 7 0=(2468 0 P={t35 TS| ¥
4{&:‘"1{:{(&}) [xePyeQax+y>9}
i N . £ 4= ]
OJ8 | S ) 1 a l? <o parial factions. f 4={13579),8={234,58} and C={1.5810}
{x=1)(xiRMones) then verify that Au(BﬁC):(AuB)m(AuC)
i _ x-7 x4 | OR 1%4
“*-f/“*-"’“*"“/"”"’"(x_.){x,, (v42] JC={15810) » B={23,4,58)54={15579/ |
AU (BAC)=(AVB)N(4uC) Sy S ek
it U =(1,2,3....,12}, 4={2.3,57,11) and If terminal ray of & is in first quadrant and cosé = —
B ={2,4,6,8,10,12] then verify that — o 3
then find the remaining trigonometric ratios of §.
(A U’B) =4nB x4 oR v_’:-&"{]l:'}{al:’w{_ﬂd)%yi,dfigﬂ il cosd =§ .ff x4
(d={2,3,5711}, U={1,23,.....12} /i '
SA=(RISTI T (12502 i
(AUBY = 4B Szl B={2.4,6,8,1012)
{vi) [Find Hannonir; Mean fram the following grouped
data.
Class Ixt1
intervals =8| 6-10 | 11-15 | 16-20| 21-25 Resolve AL into partial fractions.
ik | sy o (x=1)(" +1) -
Frequency 2 X 47
i 27% 18 26 72 69 J/drwu:/é,z/(—-%;-(*;f—]
LIt ETAL L SISt St
(vil} [Prove that perpendicular from the centre of a circle |;' iength of chord 48 of a circle
on & chord bisects it. is 12emand its tistance from |
-t ..-»..A’Juﬂ-u’//:d/c-—;/‘-f—é-" fufv* the centre is Sm_n then find
fength of the diameter AC
1x4 OR ixd

AR \3IE AB Srtotn /i
S AC At s heie 0F
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{viii} [Two tangents drawn 1o a circle from a point outside Radii of two intersecting circles are 150m and10em .
it are aqual in length. Prove it If length of their common chord TDis toem, find
Lt UinLe e biba’ Sy S distance 4B beiween their cenlers
1x4 OR 1x4
J}'} Lu;}bﬂ-u} 10cm 1 5em ..,é’}'&dluf.r_,bfbdﬁu
_{,IJIJ!"JB’ E ksdy;;r;ﬁ,‘éu}i:;ﬂ 1Wem JHJ& )
) |In triangle ABC  mAB =10cm, mBC =8cm  and Censiruct a circle of radius 4em . Draw two tangents
e, P ——— e making an angle of 60°with each other,
'=Tem . Caleulate the ection {x on -
m_ " Bl A 0l vike i 60° Fl Lo ol L B 4
BC <y
; f
] x4 | OR 1x4
I
1
2 |
B x D C
AmAB =10em, mBC =8em Nt £ ABRC =t
-L{frr""t}y«‘;!(.x) Jj:“_’. 4B .;E-C-' bb?ﬂ mAC= Tem
SE -
Note: Solve the following Questions. (3x8=24) -t.{f S .;,ﬂlfrt?
Q.3 iUsing the Componendo-Dividendo Theorem, Determine variance and standard deviation from
x4y x4z Byz the following frequency distribution.
prove that gl It X =0
x-dy x-Adz y+z Cr| 37 | 8«12 | 13=17"| 18-22 | 23-27
T P 4+4 OR a+4
1:%:/ﬁf;{/m?L:ﬁLdeﬁ'lekjsJ}% f 2 2 2 -3 2
X+4y  x4dz 27 'U:‘ff’b-ﬂf’dé"”";’jézl‘?d’-‘;f@
x4y d -4z ﬂ
Q.4 | An airplane pilot at an altitude of 4000m observes If two chords of a circle (or of congruent circles)
two ships approaching in the same direction along are equal, then the coresponding arc (minor,
a straight path. The angles of depression of the major, or semi-circular) are congruent. Prove it.
ships as seen from the plane are 30°and 45°, U.,{_,_,,_u;w;,,,_,qt;‘_;,,ls_gwjj,,jm,_f,{,fﬂg
Determine the distance between two ships.
; x4 OR J oorp. 1 444
VNI S b ol § 2 1400025 | Ap St w2 S TS e
SEAST ST LR VRN I Y B
e T 45° 51 30° G2 Py sF i
$¥n
Q.5 | The opposite angles of any guadrilateral inscribed { Circumscribe a circle about an equilaleral triangle
in a circle are supplementary. Prove it. 1 ARC of side 4cm .
38 e A L oo St S et QU 1 Z 5 oo 6 ABC 2 LSS
NS, O .
4+ OR 4 | 42
— 25A-1 24008 (D) —
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